[ Efficiency vs vertpos |

Efficiend

102 10t 1

10 0?
TP vertr (cr%)

SSW_CKTIUMU_RECO

—=— DQM_VUUUI_RUUU0U0000T__Global_CM "CKIT
—e— DQM_V0001_R000000001__Global__CMSSW_mkfitl0mu__RECO

—— DQM_V0001_R000000001_Global —_CMSSW_mkfit10mu_LowptQ_RECO
—— DOM_V0001_R000000001 _Global _CMSSW_mkfit10mu_LowptQfioBKW_RECO

~ 0.5
20.45
n
> 04
>
2
$0.35
0.3
0.25]
0.2
0.15
0.1
0.05
lG—

ettici

Ratio
=

0.9

0.8

=30 10

20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N 05
>
80.45
£
D 0.4
20.35
0.3
£0.25
()
0.2
0.15
0.1
0.05

lency

.....................

[

...........

Ratio

o
o]

Ofpr=

P oo

10
Sim. PV z (cm)

15 20




	Contents
	Page 1


